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B.A./B.Sc. 2nd Semester (General) Examination, 2022 (CBCS)

Subject : Economics

Paper : CC-1B/GE-3

(Macroeconomics)

Time : 3 hours Full Marks : 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.

øé¬Ì √õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±Ú øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any ten of the following questions. 10×2=20

Œ˚ Œfl¬±ÀÚ± ˙øÈ¬ı˛ √õ∂Àùüı˛ Î¬◊Mı˛ ±›/

(a) Define Gross Domestic Product.

Œ˜±È¬ ’ˆ¬…ôL√ı˛œÌ Î¬◊»¬Û±ÀÚı˛ ¸—:± ±›/¬

(b) What is meant by circular flow of national income?

Ê±Ó¬œ˚˛ ’±À˚˛ı˛ ‰¬Sê±fl¬±ı˛√ √õ∂ı±˝ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛/

(c) Distinguish between Gross National Product and Net National Product.

Œ˜±È¬ Ê±Ó¬œ˚˛ Î¬◊»¬Û±Ú ¤ı— ÚœÈ¬ Ê±Ó¬œ˚˛ Î¬◊»¬Û±ÀÚı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬ı˛/

(d) Define the concept of open Market operation.

Œ‡±˘± ı±Ê±Àı˛ fl¬±˚«fl¬˘±À¬Ûı˛ Ò±ı˛Ì±øÈ¬ı˛ ¸—:± ±›/

(e) What is meant by propensity to consume?

Œˆ¬±·√õ∂ıÌÓ¬± ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(f) What is investment multiplier?

øıøÚÀ˚˛±· &Ìfl¬ fl¬œ∑

(g) State the relation between marginal propensity to consume and investment multiplier.

√õ∂±øôL√fl¬ Œˆ¬±·√õ∂ıÌÓ¬± ¤ı— øıøÚÀ˚˛±· &ÌÀfl¬ı˛ ˜ÀÒ… ¸•Ûfl«¬ Œ˘‡/

(h) What at the motives of demand for money?

’ÀÔ«ı˛ ‰¬±ø˝±ı˛ Î¬◊ÀV˙…&ø˘ øfl¬ øfl¬∑

(i) What is the Fisher's equation for quantity theory of money?

’ÀÔ«ı˛ ¬Ûøı˛˜±Ú Ó¬ÀMWı˛ øÙ¬˙±Àı˛ı˛ ¸˜œfl¬ı˛ÌøÈ¬ fl¬œ∑

(j) Define autonomous investment.

¶§˚˛y”¬Ó¬ øıøÚÀ˚˛±À·ı˛ ¸—:± ±›/
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(k) What is the equilibrium condition in IS-LM model?

IS-GDP  ˜ÀÎ¬À˘ ˆ¬±ı˛¸±À˜…ı˛ ˙Ó«¬ fl¬œ∑

(l) What is meant by inflationary gap?

˜≈^±¶£¬œøÓ¬ı˛ Ù“¬±fl¬ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(m) What is meant by derived deposit?

Î¬◊æ”Ó¬ ’±˜±ÚÓ¬ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(n) What is meant by business cycle?

ı±øÌÊ…‰¬Sê ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(o) State Say's Law of market.

ı±Ê±Àı˛ı˛ Œ¸-ı˛ øÚ˚˛˜øÈ¬ Œ˘‡/

2. Answer any four of the following questions . 4×5=20

Œ˚ Œfl¬±Ú ‰¬±ı˛øÈ¬ı˛ √õ∂Àùüı˛ Î¬◊Mı˛ ±›/

(a) Explain whether national income of a country can be taken as the sole indicator of

development.

Œfl¬±ÀÚ± ŒÀ˙ı˛ Ê±Ó¬œ˚˛ ’±˚˛Àfl¬ Î¬◊iß˚˛ÀÚı˛ ¤fl¬˜±S ˜±¬Ûfl¬±øÍ¬ ø˝À¸Àı ·Ë˝Ì fl¬ı˛± ˚±˚˛ øfl¬Ú± Ó¬± ı…±‡…± fl¬ı˛/

(b) What are the properties of Keynsian consumption function?

√Œfl¬˝◊Àkı˛ Œˆ¬±· ’À¬Ûé¬Àfl¬ı˛ ∆ıø˙©Ü…&ø˘ øfl¬ øfl¬∑

(c) Explain the relation between speculative demand for money and rate of interest.

Ù¬±È¬fl¬± fl¬±ı˛ı±Àı˛ı˛ Î¬◊ÀVÀ˙… È¬±fl¬±ı˛ ‰¬±ø˝± › ¸≈Àı˛ ˝±Àı˛ı˛ ˜ÀÒ… ¸•Ûfl«¬ ı…±‡…± fl¬ı˛/

(d) Describe the shape of LM curve.

LM Œı˛‡±ı˛ ’±fl‘¬øÓ¬ ıÌ«Ú± fl¬ı˛/

(e) Explain the concept of marginal efficiency of capital.

˜”˘ÒÀÚı˛ √õ∂±øôL√fl¬ é¬Ó¬±ı˛ Ò±ı˛Ì±øÈ¬ ı…±‡…± fl¬ı˛/

(f) Discuss briefly the causes of inflation.

˜≈^±¶£¬œøÓ¬ı˛ fl¬±ı˛Ì&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛/

3. Answer any two question 2×10=20

Œ˚ Œfl¬±Ú ≈øÈ¬ ¬√õ∂Àùüı˛ Î¬◊Mı˛ ±›/

(a) Discuss the methods of national income accounting.

Ê±Ó¬œ˚˛ ’±À˚˛ı˛ ¬Ûøı˛˜±¬Û ¬ÛX¬øÓ¬&ø˘ ’±À˘±‰¬Ú± fl¬ı˛/
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(b) Analyse the objective factors that determine consumption expenditure of a country.

Œˆ¬±· ı…˚˛ Œfl¬±Ú ŒÀ˙ı˛ øÚ˚˛LaÌfl¬±ı˛œ ıd·Ì øı¯∏˚˛&ø˘ øıÀù≠¯∏Ì fl¬ı˛/

(c) Explain the equilibrium situation in Simple Keynesian Model.

¸ı˛˘ Œfl¬˝◊kœ˚˛ ˜ÀÎ¬À˘ı˛ ˆ¬±ı˛¸±˜… ’ı¶ö± ı…±‡…± fl¬ı˛/

(d) Describe the functions of central bank of a country

Œfl¬±ÀÚ± ŒÀ˙ı˛ Œfl¬fœ˚˛ ı…±—Àfl¬ı˛ fl¬±˚«±ı˘œ ıÌ«Ú± fl¬ı˛/


